Math 2568 (§75) — Jan. 18, 2017 Full Name:
Quiz 1

NOTE: Answers without proper justﬁcation will receive NO credit

Problem 1. (2 points) Find three numbers whose sum is 34, when the sum of the first and second
is 7, and the sum of the second and third is 22.
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Problem 2. (3 points) Find the unique reduced echelon form of the augmented matrix associated

x1 + 23 4+ x4 — 225 = 1
to the system: 227 + x93 +3x3 — 24 + 1z = 0 .
3z; — x9 +4xz3 + 14 + xTH = 1
' o v v -2 Lo 1 1 =2)
Zl%qlo—“’l&RO\\—ss.‘;
(Sad X2
3-v 4 I bl 2 ¢ "1 o < | -2 3 1-2
?sz-)i(s-;R'
e 1 1 -2 ) I o 1) =2
R G +7 s s 2 LI N I IR
= [
3 @ L 002 -5 12 -4yl |0 o L =S 6f-2
2

R |




